A MAEE
B 00| MASHE YASENXE 7H(LYUDDHE/AuE)
el ZESEY HAA B (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
PPNR= =)} 295,211 332,423 A37,212
%?_'Ol H2ols ZRSEUIE P& (LI IHA /Bl 255,700 291,340 A35,640
JESEE HAE MK 255,700 291,340 A35,640
HAA - 28N JHASENRE = 81,500 105,140 N23,640
201 el 32,000 52,600 220,600
01 At2t2ltl 27,000 40,000 13,000
OMARC HASEXNXE =X 27,000
03 A= I 5,000 12,600 AT,600
OZHSEY 283 S MHaAl 5,000
202 04| 14,500 14,540 A0
01 2L AH| 14,500 14,540 A0
OMAHL HRASEXNXE =4 12,000
2ESEY 2383 5 29 2,500
203 HR=H] 35,000 38,000 23,000
03 A= PR 35,000 38,000 23,000
OMARL HASEXNXE =X 35,000
SEXAAT SHMA 23t 34,500 34,000 500
201 eer23y| 33,000 4,000 29,000
01 AtR2t2|HI 3,000 4,000 A1,000
OSENIANT 22823 Izl 3,000
02 s3=gHl 30,000 0 30,000
OoUeteI=SE XA T HHE2AS FE= 30,000
202 04l 1,500 1,500
01 SLHoIH 1,500 1,500
OS8R SR 1,500
JESENXE NFAY3(XEL) 29 XA 15,000 30,000 A15,000
201 Let2 3| 4,000 10,000 26,000
01 AtR2te|H] 4,000 10,000 26,000
OZESEENXE N2 28 NE S 4,000
202 04| 11,000 20,000 29,000
01 2L AH| 11,000 20,000 29,000
OX2ga(X) 2g NE § gR=A 11,000
ZESENXE d2e] & =S58 =2 3,900 5,800 21,900
201 2egh=3| 2,100 4,000 21,900
01 At2teltl 2,100 4,000 21,900
OZESENXE 488 & 23| A 600
OZ2SEE AMdd - =l MIHE 22 KAl 1,500
202 048l 1,800 1,800
01 2L AL 1,800 1,800
OZEASENXT 48t EFE2 800
OUASEY A HE ERE2 1,000
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A MAEE
A S0I0] H2cts ZYSEMIT 7o (LUSIHT/LLEEF)
ol ZESEY SAHE e (SH9 M)
K- BB - ERI(3IH) - HIRA - A HIDEZ
JRESENIE B2 25 115,000 107,400 7,600
201 Zet=d] 52,000 45,000 7,000
01 At2teltl 37,000 25,000 12,000
o2 - 2uctol M 28 82 37,000
03 A= SHI 15,000 20,000 /5,000
Ostl=lisl, E23 S M= 15,000
202 04| 3,000 2,400 600
01 SLHo4HI 3,000 2,400 600
o2 -2zl M 28 22 3,000
308 XtXIEMSO0IE 60,000 60,000
18 SIS0t 34 A A A 60,000 60,000
o2 - 2Zctol M 28 82 60,000
JESENXE A it s =29 5,800 9,000 23,200
201 LBzl 4,800 8,000 A3,200
01 AtR2te|Hl 4,800 8,000 A3,200
OsFd & 2 HgHet WS 4,800
202 04| 1,000 1,000
01 =LHOHI 1,000 1,000
OsFa & &8 Sgdst W= 1,000
HH2IBIHI(XXHS W) (DIEHIIE) 39,511 41,083 A1,672
=1l 39,511 41,083 N1,572
N2g Jl=3H| 39,511 41,083 A1,572
201 Zet=Ehl 23,641 25,403 A1,762
01 AtR2t2|HI 23,641 25,403 A1,762
OR N2 AtR22/] 23,641
202 04| 6,270 6,080 190
01 SLHo4HI 6.270 6,080 190
ORAM2E =UH0bI 6.270
203 HR=H] 9,600 9,600
01 J|2=2gedR=a] 6,600 6,600
OSEXX=AHY 6,600,000& 6,600
M A=Y= 3,000 3,000 0
©1521 0olat 250,000 x 122 3,000
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